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Class-9 1* Part

Model--1

Part A : Reading Test (Marks-50)
Read the passage carefully and answer the questions following it. Unit7: Lesson-1(A)
The pioneer of Bangladeshi modern art Zainul Abedin is widely acclaimed for his Bengal ‘Famine
Sketches’. Through a series of sketches, Zainul not only documented the harsh famine of 1940 but
also showed its sinister face through the skeletal figures of the people destined to die of starvation in
a man-made plight. He depicted these extremely shocking pictures with human compassion. He made
his own ink by burning charcoal and using cheap ordinary packing paper for sketching. He produced
a series of brush and ink drawings, which later became iconic images of human sufferings.
Zainul developed a knack for drawing and painting when he was a high school student. After
completing high school, he got admission to the Government School of Art, Calcutta (now Kolkata).
He graduated with the first position in first class in 1938. He was appointed teacher of the Art School
while he was still a student there. He also attended the Slade School of Arts, London in 1951-52.
Zainul Abedin is considered the founding father of Bangladeshi art. He was an artist of outstanding
talent and earned international reputation. For his artistic and visionary qualities, he is referred to as
Shilpacharya meaning ‘great teacher of art” in Bangladesh. He was the first Principal of the first art
school in Dhaka in East Pakistan (now Bangladesh). He organized the Nabanna (harvest) exhibition
in 1969. In the exhibition, a 65-foot long scroll portraying the rural East Pakistan in phases from
abundance to poverty. This intensified the already heightened non-cooperation movement against
the Pakistan regime. The exhibition was symbolic of the artists’ protest and a milestone in
demanding cultural and political freedom. Zainul’s dynamic style of work is evident in a 30 foot long
scroll painting called Manpura, which was done to commemorate the death of hundreds and
thousands of people in the devastating cyclone of 1970.
He designed the pages of Constitution of Bangladesh. He founded the Folk Art Museum at
Sonargoan, and also Zainul Abedin Shangrahasala, a gallery of his own works in Mymensing in
1975.
The river Brahmaputra plays a predominant role in his paintings and a source of inspiration all
through his career. Much of his childhood was spent near the scenic beauty of the river Brahmaputra.
A series of water colours that Zainul did as his tribute to the river earned him the Governor’s Gold
Medal in an all-India exhibition in 1938. This was the first time when he came into spotlight and this
award gave him the confidence to create his own visual style.
Zainul was born in Kishoreganj on 29 December 1914 and died on 28 May 1976.

1. Choose the best answer from the alternatives. Ix7=7
a.  Zainul Abedin graduated with — in 1938.
(i) first class (i) honour (iii) award (iv) distinction
b.  Zainul developed a knack for —.
(i) drawing (i) painting (iii) fishing (iv)  drawing and
painting
c. — plays a pivotal role in his paintings.
(i) Brahmaputa (ii) Buriganga (iii) Nabaganga (iv) Surma
d. Zainul was born in —.
(i) Kaliganj (ii) Keraniganj (iii) Kishoreganj (iv) Manikganj
e. Zainul is considered the — of Bangladeshi art.
(i) father (i) founding father ~ (iii) famous artist (iv) renowned painter
f.  Zainul attended the Slade School of Arts in —.
(1)1950-1951 (ii) 1951-1952 (iii) 1952-1954 (iv) 1951-1961

g. Hewas the — of the first art school in Dhaka.



(1) first student (i) first Principal (iii) second Principal  (iv) second student

Extra Practices

h.  He organized the harvest exhibition is —.

(i) 1969 (ii) 1996 (iii) 1959 (iv) 1989
i.  Zainul designed the pages of Constitution of —.
(i) Bangladesh (ii) India (iii) Pakistan (iv) Nepal
J.  Zainul passed away on —.
(i) 1974 (if) 1975 (iii) 1976 (iv) 1996
k. Zainul Abedin developed a knack for drawing and painting when he was a student of
(i) College (i) High school (iii) University (iv) Art College
I.  Zainul graduated with the — position in 1938.
(i) first (if) second (i) third (iv) fifth
m. The river which plays a resplendent role in his paintings is —.
(i) the Padma (if) the Meghna (iii) the Jamuna (iv) the Brahmaputra
n. The Brahmaputra plays a — role in his paintings.
(i) Significant (i) Important (iii) Resplendent (iv) Vital
0. When Zainul graduated with first position.
(i) 1951 (if) 1939 (iif) 1938 (iv) 1940
p. If Calcutta before used, what word we used now —.
(i) Kalkata (i) Kolkata (iii) Culcutta (iv) Cullcutta
g. Becoming an artist of outstanding talent what reputation specially he eared ——?
(i) External (if) National (iii) International (iv) Seminational
Answer the following questions. 2x5=10

What is “Shilpacharya™?

What intensified the non-co-operation movement against Pakistan regime?
What plays a resplendent role in his career?

When did Zainul Abedin develop a knack for drawing and painting?
Where did he found the Folk Art Museum?

®o0 o

Extra Practices

What do you know about Zainul Abedin?

Why is Zainul widely acclaimed?

Where did he get admission after completing high school?

Why do you think he is referred to as “Shilpacharya”?

Did he get the Governor’s Gold Medal?

When was Zainul Abedin born?

What plays a predominant role in his career?

Where did he found the folk Art Museum?

What do you mean by shilpacharja?

When did Zainul develop a knack for drawing and painting?

|II in each gap with a suitable word of your own based on the information in the text. 0.5x10=5
Zainul Abedin is (a)___ as the founding (b)___ of Bangladeshi (c) . He was an (d)
of outstanding (e)___. He earned (f)___ reputation. He got (g)___ class firstin his (h)
He is designed the (i) of constitution of (j)

3.—?\—‘.—'.—'_3@.—"-
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ii.  Zaiunl Abedin (a) ------ admission to the Govt. School of Art, Calcatta. He graduated (b) --
---- the first position in (c) ------ class. He was a very (d) ------ student. He was appointed
teacher of the Art school while he was a (e) ------ there. He (f) ------ the Slade School of



Arts (g) ------ London. He was an (h) ----- of outstanding (i) ------ and extraordinary (j) ----

Zzlalinul Abedin is regarded (a) ------ the founding (b) ------ of Bangladeshi (c) ------ . He

was an artist of outstanding (d) ------ . He earned international (e) ------ . Zainul is referred
to as shilpacharja for his (f) ------ and visionary (g) ------ . He got (h) ------ first class first in

his graduation. He (i) ------ the pages of (j) ------ of Bangladesh.

4. Complete the table below with information from the passage. 1x5=5
Richard Phillips Feynman was born in America in 1918. He was very interested in science from his
childhood. He studied Mathematics, Philosophy, Astronomy and Physics and the later was his major
interest. He was a professor at Princeton University. His great book is Feynman Lectures of Physics’.
He died in 1988.

Stephen Hawing is a great wonder in the world history of scientists. He was born in America on 8
January in 1942. His father went to London with him. Stephen was a very talented student. He was
very good at Mathematics and Physics but his major passion was in Physics. Now he is the ever
greatest physicist in the world. He studied at Cambridge University. He is very renowned for his theory
of Black Holes. He got PhD at 23. He is a professor of Lucasian. His great book is ‘A Brief History of
Time’. He is a very extraordinary scientist. He is still working for the development of science.

Names Feynman Hawking

Birth year 1918 (a) —

Country (b) — (c)—

Profession/Achievement (d)— (e) —

5. Write a summary of the passage in no more than 90 to 100 words. 10
6. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5

Column A Column B

a.

Independence, the birth right of man, is | i.  took place in 1971.

b.

It is evident that every nation ii. one of his unigue possessions.

C.

We also had to fight for nine iii. to the joint forces of India and Bangladesh
on 16 December 1971.

People of walks of life took part in iv. were Killed and injured while fighting.

In the long run, the enemy had to surrender | v.  has to struggle to achieve it

vi. months against the occupation forces of
Pakistan to achieve it.

vii. the War of Independence to drive away the
occupation forces from our dear land

7. Read the following sentences and put them in correct order. 1x8=8

(a)
(b)

(€
(d)

(€)
(f)

The grasshopper said, "Brother ant, give me a morsel of food."

Hearing this, the ant said, "Since you sang all the summer, it seems you have to dance all
winter."

A grasshopper, his neighbour, passed the whole summer with joy without storing the
grains.

In reply, the grasshopper said that he was not idle but was singing all day long during the
summer.

In winter, the grasshopper was half dead with hunger.

At a foggy winter day, an ant was taking out of his granary some grains of wheat stored
during the summer.



(g) Saying this the prudent ant locked his granary door.
(h) The ant asked what he was doing during the summer.

A0 2)

Part A : Reading Test (Marks-50)
Read the passage carefully and answer the questions following it. Unit-7: Lesson-2(B)
In the primitive age communications took place between humans through signs and gestures. As
humans began to use their vocal chords, these silent gestures were no longer used as the primary
means of communication. But they did not completely disappear. They evolved as a form of art, used
to entertain thousands, and came to be known as ‘mime’.
Mime touched a little boy’s heart while he was watching a performance in his village. He was S0
fascinated by the show that he was determined to master this art. He is no other than Partha Pratim
Majumder, who won the world’s highest award in mime --- Moliere Award.
Partha is undoubtedly a forerunner in the field of mime in Bangladesh. He started as a musician and
his keen sense of rhythm helped him to let his limbs move and express his surroundings through
gestures.
Partha Pratim Majumder is the first Bangladeshi to take up mime as a profession. He performed in a
number of television shows in Bangladesh and gained popularity. In his mime, Majumder depicted
the day-to-day life of the people. There was sadness, tears as well as happiness and laughter.

Majumder’s turning point of life came in 1979, when he was asked to give a solo performance in
Bangladesh Shilpakala Academy. The then French ambassador Loic Moreau happened to be among
the audience. Mr. Moreau noticed the talent in Mojumder. In 1981, the French Government offered
him a scholarship so that he could get professional training in mime. This was the first time that a
student was granted a French scholarship in mime. Mojumder started his training under the legendry
maestro, Etiene Decroux. Through Decroux, he met another celebrated mime artist named Marcel
Marceau. Marceau has transformed modern mime by taking it to an unimaginable height.

Marceau was very impressed by the Bangladeshi young talent and offered him a place in his school
for mime, named ‘Ecole Internationale de Mimodrame de Paris-Marcel Marceau’. This school is the
biggest and the best in the world.

During his three years training period, Majumder practiced 16-18 hours daily till each and every
bone in his body would feel like breaking.

After his time with Marceau, there was no looking back for Majumder. He staged solo performances
in England, Belgium, Germany, Spain, Italy and the USA. French, Canadian and American TV
channels enthusiastically aired his shows.

[adapted from the Star: Weekly Publication of The Daily Star, 27 January 2012]

1. Choose the best answer from the alternatives. Ix7=7
a. Partha Pratim Majumder won the — highest award in mime.
(i) world’s (i1) American (ii1) Indian (iv) African
b. Parthais a forerunner in the field of — in Bangladesh.
(i) mime (i) art (i) literature (iv) song
C. The turning point of Majumder’s life came in —.
(1) 1979 (i) 1978 (iii) 1997 (iv) 1987
d. The govt of — offered Majumder a scholarship.
(i) French (i) India (iii) Nepal (iv) Pakistan

e. Majumder practiced 16-18 hours daily during his — training period.
(i) Three months (i) three years (111) six months (iv) five months



f.

In what form have the silent gestures evolved into?

(i) drama (i) cinema (iii) mime (iv) dance
g. Before the use of speech, communication took place through — language.
(i) art (i) sign (i) written (iv) spoken

Extra Practices

h. In older times the actors who performed mime used to put white paint on their —.
(i) limbs (i) body (iii) face (iv) hair
i. In the sentence “It touched a little boy’s heart while he was watching a performance in
his village.” Here touched means -.
(i) appealed (ii) requested (iii) advised (iv) taught
J. The French govt offered him a -.
(i) award (ii) scholarship (iii) reward (iv) prize
k. Before the use of speech, communication took place through — language.
(1) written (i) sign (iii)spoken (iv) art
I. Inwhat form have the silent gestures evolved into?
(i) drama (i) cinema (iiliymime (iv) dance
m. In older times the octors who performed mime used to put write pain on their —.
(1) limbs (i) body (iii)face (iv) hair
n. In the sentence "It touched a little boy's heart while he was watching a performance in
his village. Here ""touched" means——.
(i) appealed (ii) requested (iii)taught (iv) broke
0. During his three years training. Majumder practiced 16-18 hours——.
(i) daily (i) monthly (iii)weekly (iv) fortnightly
p. In the passage primary’ is a on
(1) wverb (i) adverb (iii)adjective (iv) noun
. The synonym of ‘forerunner’ is
(i) harbinger (i) hardihood  (iii)locum (iv) above all
2. Answer the following questions. 2x5=10
a. When did mime touch Majumder’s heart?
b. When did the turning point of life of Majumder come?
c. When did the French Govt offer Partha a scholarship?
d. What is mime?
e. What is the name of school where Partha is placed?

Extra Practices
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What did Majumder depict in his mime?

Why did the French Govt offer him scholarship?

Who was Marcel Marceau?

Who was Loic Moreau?

How did Partha gain popularity?

When did the French government offer Partha a scholarship?
When did the turning point of life of Majumder come?

. When did mime touch Majumder’s heart?

3. F|II in each gap with a suitable word of your own based on the information in the text. 0.5x10=5

In ancient (a)__ communication took (b) __ between humans (¢)____signsand (d)___. The
silent gestures (¢)___ as a form of (f)___ and came to be (g)___ as mime. Partha is the
(h)_in the field of mime of Bangladesh. He (i)___ up mime as a profession. He gained

()__.

Extra Practices




ii. Majumder was a (a) ------- boy. He was watching a (b) ------- in his village. The
performance (c) ------- the heart of the boy. He was so (d) ------- by the show that he was
determined to master this art. He tried his (e) ------- best and got training in abroad. He
became the (f) ------- mime artiste. He was able to win the world's highest (g) ------- in
mime. In Bangladesh, he is the (h) ------- in this (i) ------ of mime. He is the first man in
Bangladesh who takes up mime as (j) ------- :

iii. In (@) ------- time communications took (b) ------- between humans (c) ------- signs and
gestures. The (d) ------- gestures evolved as a form of art and came to be known as (e) -------
. Partha is the (f) ------- in the (9) ------- of mime in Bangladesh. He took up mime as a
profession. He was able to (h) ------- popularity. He (i) ------- in a number of television (j) --
----- in bangladesh.

4. Complete the table below with information from the passage. 1x5=5
Jahir Raihan was a great film maker. He was born in Feni on 19 August in 1935. He had great
passion for literature. He completed BA Hons. from Dhaka University in 1958. His great film is
‘Jibon Theke Neya’ that was made in 1970. His great documentary film is Stop Genocide. He played
a very important role during our liberation war. He is a well known Bangladeshi. He wrote novels of
which 'Borafgala Nadi' was famous. He got many awards. He received Admiji literature Award in
1964. He was lost on 30 January in 1972. It is strongly thought that he was killed by the Rajakars for
his role in our independence.

Joynul Abedin was a great painter of Bangladesh. He was born in Kishoreganj of Bangladesh in
1914. He was a very brilliant student. He did a great deal of work for the improvement of art and
painting in Bangladesh. His great paint work is ‘Monpura 70°. He got the title of D.Litt from Delhi
University in 1973. He died in 1976.

Kamrul Hasan was a great artist. He was born in Kolkata in 1921. He had a very exclusive talent in
art. He wrote many books. His great book is “Kherokhata’. He was very dead against oppression and
injustice. He died in 1988.

Names Jahir Joynul
Birth year (a) — (€)—
District Feni (d)—
Profession/Achievement (b) — (e) —
5. Write a summary of the passage in no more than 90 to 100 words. 10
6. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5
Column A Column B
a. Unemployment is now universally i. and create the large opportunities for
self-employment.
b. It destroys the physical and ii. recognized as a social curse.
c. Young people are inclined more iii. is the best help.
d. Rather they should change their attitude | iv. mental power of the young generation.
e. Infact, that is the best solution v. depend on the government to proved
them with jobs.
vi. to the problem of unemployment in our
country.
vii. toany type of jobs than to self-employment.
7. Read the following sentences and put them in correct order. 1x8=8

(@ Grameen Bank and his micro-credit programmes have been very successful in poverty
reduction all over the world.

(b) In consequence of it, he was awarded the Nobel Prize for peace in 2006.

(c) His father’s name is Hazi Dula Mia and mother’s name is Sufia Khatun.

(d) He was born on 18 June of Bathua village in Hathazari of Chittagong.

(e) You must have heard the name of Professor Dr. Muhammad Yunus.



(f) Hisactivities of poverty alleviation and promotion of peace have been famous all over the world.

(9) His project for the promotion of peace through poverty reduction has been taken as a
model all over the world.

(h) He established Grameen Bank in 1976 and started his micro-credit programmes from Jobra village.

MODEL QUESTION €

Part A : Reading Test (Marks-50)

Read the passage carefully and answer the questions following it. Unit-7: Lesson-3(A)
Partha Pratim Majumder was born in 1954 in Pabna to a family of artistes. He spent most of his early
years in his ancestral home, one of the biggest houses, situated in a small locality known as
Kalachandpara. At that time Kalachandpara was well known for its cultural activities. There were
festivals and various types of cultural shows round the year. Majumder’s father, a photographer by
profession was an art lover. He taught and inspired his son to appreciate different forms of art.
Majumder went to live with his aunt in Chandernagar, 30 kilometres away from Kolkata in 1966. It
was there that he first came across a mime artiste named Jogesh Dutta. The way Dutta narrated
stories without uttering a single word, left Majumder spellbound. He took lessons on mime from
Dutta in Jogesh Dutta's mime academy in Kolkata from 1966 to 1972.

1.  Choose the best answer from the alternatives. 1x7=7

a. Majumder went to— live with his aunt.

(i) Chandpur (i1) Chanderhat (iii) Chandernagar (iv) Chunasughat
b. Majumder’s — was a photographer.

(i) father (ii) brother (iii) uncle (iv) cousin
c.  The birth place of Partha Pratim is —.

(i) Patna (i) Pabna (iii) Paharpur (iv) Parbatipur
d. He was highly inspired by his —

(i) father (i) mother (iii) sister (iv) brother
e. Chandernagar is— away from Kolkata.

(i) forty kms. (i) thirty kms. (iii) thiry miles. (iv) fifty kms.
f.  Majumder was born in—

(i) 1954 (if) 1945 (i) 1950 (iv) 1854
g. His father was bornin—.

(i) artist (ii) art lover (iii) honest man (iv) educationist
Extra Practices
h. —was well-known for its cultural activities.

(i) Kalyanpur (ii) Kalachandpara (iii) Khamarpara (iv) Kamarkhali
i.  Hewent to Chandernagar in —.

(i) 1996 (ii) 1966 (iii) 1954 (iv) 1960
J. Majumder took lessons on — from Dutta.

(i) mime (i) sports (iii) photography (iv) drawing

2. Answer the following questions. 2x5=10

a.  Why did Majumder go to Chandernagar?

b.  Who inspired him to appreciate different forms of art?
c.  Where did he take lessons on mime from Dutta?

d.  What was Majumder’s father?

e. What made Majumder spellbound?

Extra Practices

f.  When was Partha Pratim Majumder born?
g.  Where did he spend most of his early years?
h.  What was Kalachandpara well known for?



i.  Where was Chandernagar?
j.  Did Partha take lessons on mime?

3. Fillin each gap with a suitable word of your own based on the information in the text. 0.5x10=5
Partha was a (a)___ mime artist. He (b)___ from Pabna. His (c)___ was a photographer and
(d)__ him. Besides, he (e)___ across a famous (f)___ artist named Jogesh Dutta. He was
(9)__ pleased with Dutta for his excellent (h)___ to narrate stories (i)___ uttering a single

4. (CJ:)onlete the table below with information from the passage. 1x5=5
Munir Chowdhury was very great dramatist. He was born in Manikgonj of Bangladesh in 1925. He
was a very brilliant student. He was very interested in Politics and Literature. He completed BA
Hons in 1946 and MA in 1947. He wrote his great drama ‘Kabar’ When he was in prison. He was a
great intellectual of Bangladesh. He was awarded ‘Daud Prize’ in 1965. He was lost in 1971.
Humayun Ahmed was a great novelist of Bangladesh. He was born in Myanmensingh in 1948. He
was a very prolitic writer. He wrote a great number of novels, stories and dramas. His great film is
‘Shaymol Chaya’. He was awarded Bangla Academy Purushkar and Ekushe Padak. He died in 2012.
Ahsan Habib was a very renowned poet of Bangladesh. He was born in Pirozpur of Bangladesh in
1917. He was a very brilliant person. His remarkable works are Ratrishesh published in 1947 and
Megh Bola Choitre Jabo published in 1976. His famous poem is Bristi Pore Tapur Tupur. He got
Bangla Academy Award in 1961 and Ekushe Padak in 1978. He died in 1985.

Birth year (a) — (€)—
District Manikgan] (d) —
Profession/Achievement (b) — (e) —
5. Write a summary of the passage in no more than 90 to 100 words. 10
6. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5
Column A Column B
a. Inthe present day, cricket is the i.  both the players and spectators alike.
b. Itis also the most ii.  all over the world.
c. This game is played between two iii.  full of thrill and excitement.
d. Its popularity is increasing day by day iv. interesting and enjoyable game in Bangladesh.
e. The game gives pleasure to v. discipline and promptness.
vi. most popular game all over the world.
vii. teams consisting of 22 players.

7. Read the following sentences and put them in correct order. 1x8=8
(@ When asked, the youngest daughter said, “Nothing”.
(b) But first he wanted to know how much they loved him.
(c) Being pleased, Lear gave each of them a third of his kingdom.
(d) His eldest daughter declared, “Sir, I love you more than I can say.”
(e) Long ago there was a mighty old king of England name Lear who wanted to divide his
kingdom among his three daughter.
(f) At first Lear asked his eldest daughter, “How much do you love me?”
(9) When asked, his second daughter said, “My love for you shall never change.”
(h) Lear was shocked and said, “Nothing will come of nothing.”



MODEL QUESTION @)

Part A : Reading Test (Marks-50)
Read the passage carefully and answer the questions following it. Unit-7: Lesson-4(A)
It was Autumn. August 26, 1910. A little girl was born to an Albanian descent, rich Catholic
merchant’s family in a small town called Skopje, Macedonia. She was the youngest of the three
siblings and was named Agnes Gonxha Bojaxhiu. Who had known that this tiny, little girl would one
day become the servant of humanity-- love and serve the poorest of the poor and become the mother
of humanity. Yes, we are talking about none other than Mother Teresa.
At the age of 12, she heard a voice from within her that urged her to spread the love of Christ. She
decided that she would be a missionary. At the age of 18 she left her parental home. She then joined
an Irish community of nuns called the Sisters of Loreto, which had missions in India.
After a few months of training at the Institute of the Blessed Virgin Mary in Dublin, Mother Teresa
came to India. On May 24, 1931, she took her initial vows as a nun. From 1931 to 1948, Mother
Teresa taught geography and catechism (religious instruction) at St. Mary's High School in Kolkata
(then Calcutta). However, the prevailing poverty in Kolkata had a deep impact on Mother Teresa's
mind, and in 1948 she received permission from her superiors to leave the convent and devote herself
to work among the poorest of the poor in the slums of Kolkata.

1.  Choose the best answer from the alternatives. 1x7=7
a.  Mother Teresa decided to be a—.
(i) nurse (ii) doctor (iii) missionary (iv) physician
b.  The poverty in— had a deep impact on her mind.
(i) Kolkata (i) Kuwait (iii) Kualalampur (iv) Kathmandu
c.  Shewasbornin—.
(i) Autumn (i1) Summer (iii) Winter (iv) Spring
d.  She took her initial vows as a— on May 24, 1931.
(i) nun (i) teachers (iii) doctor (iv) nurse
e.  She left her — at the age of 18.
(i) husband (ii) children (iii) father (iv) parental home
f. Mother Teresa was the — siblings.
(i) youngest of the two (ii) eldest of the three
(iii) youngest of the three (iv) eldest of the two
g.  She heard a voice at the age of —.
(i) 12 (ii) 16 (iii) 18 (iv) 20

Extra Practices

h.  The voice urged her to spread the love of —

(i) Buddhist (ii) Christ (iii) Hindu (iv) Muslim
I. The Irish community of nuns had missions in —.

(i) Pakistan (i) India (iii) America (iv) Bangladesh
J.  She taught — and catechism.

(1) English (i1) Bangla (i11) Geography (iv) Philosophy
k.  What does "*servant of humanity' mean in the text?

(i) becoming a slave (ii) to work in other people's house

(iii) to be oppressed by others (iv) to serve the needy
l. Mother Teresa set out to join the missionary of the sisters of Loreto in the year —.

(i) 1927 (if) 1928

(iii) 1929 (iv) 1930

m. Mother Teresa took her first vows at the age of ——.



(i) 18 (i) 19

(i) 20 (iv) 21

n.  Mother Teresa left her parental home at the age of ——.
(i) 21 (i) 18
(ii) 24 (iv) 26

0.  The poverty in— had a deep impact on Mother Teresa's mind.
(i) Kolkata (i) Bangladesh
(iii) Albania (iv) Macedonia

p.  Which family Teresa was from?
(i) Hindu (if) Medisi
(iii) Christian (iv) Catholic

g. ‘To serve the needy’ refers that
(i) become aslave (i1) work for all people
(iii) servant of morality (iv) servant of humanity

2. Answer the following questions. 2x5=10

What was the season that led Mother Teresa to be a missionary?
When did she leave her parental home?

When was Mother Teresa born?

What did she teach at St Mary’s High School?

What made impression on her mind?

® o0 o

Extra Practices

f.  What did the voice urge her?
g.  What did she decide?
h.  Where did she join?
I. When did she take her initial vows as a nun?
J. Where did she teach?
f. Do you think that Mother Teresa is a great lady of humanity?
3. Fillineach gap with a suitable word of your own based on the information in the text. 0.5x10=5
i. Mother Teresa (a) _ the mother of (b) . She (c) _ of a rich Catholic merchant’s
(d)__. She became the (e)___ of humanity. She (f) ___ avoice (g)___ herself that (h)
her to (i) the love of Christ. She (j)__ her life to the poorest of the poor.

Extra Practices

ii.  Mother Teresa (a) ------ the servant of humanity. She (b) ------ name and fame in home
and (c)------ . Her name will be written in the world's (d)------ in golden letters. She (e) ----
-- done a lot for the down-frodden (f) ------ of the world. Her work for the (g) ------ has
no comparison. She possessed a vast heart where needy and distressed (h) ------ of the
globe would get (i) ------ and motherly (j) ------ and care.

iii.  Mother Teresa was (a) ------ to an Albanian (b) ------ . She was the (c) ------ of the (d) -----
- siblings. She was (e) ------ Agnes Gonxha Bojaxhiu. Nobody thought that this (f) ------
girl would one day become the (g) ------ of humanity. She left her parental home only at
the (h) ------ of 18. She (i) ------ an Irish community of nuns called the Disters of (j) ------ :

4. Complete the table below with information from the passage. 1x5=5
Diego Armando Maradona, born 30 October 1960, is an Argentine football coach as well as a
manager and former player. Many experts, football critics, former players and football fans consider
Maradona to be the greatest football player of all time. He joined FIFA player of the 20th century
with Pele.



He attempted to work as a coach alongside former Argentines Juniors midfield team mate Carlos
Fren. The pair led Mandiyu of Corrientes (1994) and Racing Club (1995), but with little success. In
May 2011 he became manager of Dubai club Al West FC in the FC in the United Arab Emirates.
Maradona was sacked in 10 July 2012.

After the resignation of Argentina national football team coach Alfio Basile in 2008; Diego on 29
October 2008, AFA chairman Julio Grondona confirmed that Maradona world be the next coach of
the national side from December 2008. On 19 November 2008, Diego Maradona managed Argentina
for the first time when Argentina played against Scotland at Hampden Park in Glasgow which
Argentina won 1-0.

After winning his first three matches in charge of he national team, he oversaw a 6-1 defeat to Bolivia,
equaling the team’s worst ever margin of defeat. With two matches remaining in the qualification
tournament for the 2010 World Cup, Argentina was in fifth place and faced the possibility of failing to
qualify, but victory in the last two matches secured qualification for the finals.

At the World Cup in June 2010 Argentina started by winning 1-0 against Nigeria, and then defeated
South Korea by 4-1, with a hatrick from Gonzalo Higuain. In the final match of the group stage
Argentina won 2-0 against Greece to win their group and advance to a second round meeting with
Mexico. After defeating Mexico 3-1, Argentina was in turn routed by Germany, 4-0 in the quarter
finals to go out of the competition. Argentina was ranked 5th in the tournament. On 15 July 2010,the
Argentina Football Association said that he would be offered a new 4 years deal that would keep him
in charge through to the summer of 2014 when Brazil stages the World Cup. However on 27 July the
AFA announced that its board had unanimously decided not to renew his contract.

Person Action/Achievement Place/Country Time
Maradona born (@) — (b) —
Maradona became (¢) — Al west/FC in the United Arab Emirates | (d) —
The World Cup | was held (e) — 2014
5. Write a summary of the passage in no more than 90 to 100 words. 10
6. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5
Column A Column B
a. Rabindranath Tagore was one of the i.  sentto London to study law.
b. The poet was born into the ii. revealed through his poetic novel
'‘Banaphul’
c. Initially he was educated iii. Tagore family in March 1861.
d. But he was not able to accustom iv. tirelessly in all branches of Bengali
literature
e. At he age of fifteen, his poetic genius got | v. informally at home.
vi. himself to formal education.
vii. most famous poets of world literature

7. Read the following sentences and put them in correct order. 1x8=8
(@) With ready wit the astrologer said, “The stars declare that I’1l die only a week before your
death!”

(b) A good astrologer told him something very unpleasant.

(c) At this the king turned pale.

(d) Once there was a king who was fond of knowing his future from the astrologer.

(e) Atthis, the king got furious and condemned him to death.

(f) Being obsessed with another thought, the king then asked, “How long would you live?”
(g) | shall wait to receive Your Majesty where you are sending me.



(h) “Drive this wretch away and let him not come again,” shouted the king.

MODEL QUESTION @

Part A : Reading Test (Marks-50)
Read the passage carefully and answer the questions following it. Unit-7: Lesson-6(A)
Mother Teresa was moved by the presence of the sick and dying on the streets of Kolkata. She
founded the home for the dying destitute and named it ‘Nirmal Hridoy’, meaning ‘Pure Heart’. She
and her fellow nuns gathered the dying people off the streets of Kolkata and brought them to this
home. They were lovingly looked after and cared for. Since then men, women and children have
been taken from the streets and carried to Nirmol Hridoy. T hese unloved and uncared for people get
an opportunity to die in an environment of kindness and love. In their last hours they get human and
Divine love, and can feel they are also children of God. Those who survive, the Missionaries of
Charity try to find jobs for them or send them to homes where they can live happily for some more
years in a caring environment. Regarding commitment to family, Mother Teresa said, “ Maybe in our
own family, we have somebody, who is feeling lonely, who is feeling sick, who is feeling worried.
Are we there? Are we willing to give until it hurts in order to be with our families, or do we put our
interest first? We must remember that love begins at home and we must also remember that future of
humanity passes through the family”.
Mother Teresa's work has been recognised throughout the world and she has received a number of
awards. These include the Pope John XXIII Peace Prize (1971), the Nehru Prize for Promotion of
International Peace & Understanding (1972), the Balzan Prize (1978), the Nobel Peace Prize (1979)
and the Bharat Ratna (1980).
Mother Teresa died at the age of 87, on 5 September 1997.The world salutes her for her love and
compassion for humanity. She has taught us how to extend our hand towards those who need our
love and support irrespective of creed, caste and religion. Draped in a white and blue-bordered sari,
wrinkled face, ever soft eyes and a saintly smile, is the picture of Mother Teresa in our mind.

1. Choose the best answer from the alternatives. 1x7=7
a.  Mother Teresa founded the home for the —
(i) old (ii) lame (iii) blind (iv) dying destitute
b.  She has taught the world how to extend our hands towards the —.
(i) rich (ii) powerful (iii) needy (iv) thief
c.  She received the Nobel Peace Prize in—.
(i) 1979 (i) 1975 (iii) 1976 (iv) 1978
d. She along with her — treated the dying people with care and love.
(i) fellow nuns (i) sisters (iii) brothers (iv) friends
e.  She breathed her last on —.
(i) September 5, 1979 (ii) September 5, 1997
(iii) March 3, 1997 (iv) March 5, 1979
f. The world salutes Mother Teresa for her — for humanity.
(i) love and affection (1) honesty
(iii) truthfulness (iv) love and compassion
g. She wore a—sari.
(i) white and blue-bordered (ii) blue
(iii) black (iv) white

Extra Practices

h.  She died in the — century.
(i) 18th (if) 19th (iii) 20th (iv) 21st
I. She got the Bharat Ratna Prize in—.



(i) 1981 (i1) 1988 (iii) 1980 (iv) 1989
] Mother Teresa said that love begins at —.

(i) home (i) school (iii) college (iv) university
k.  Mother Teresa received —— award in 1979.
(i) The Balzan Prize (if) The Nobel Peace Prize

(iii) The Pope John XXII1 Peace Prize (iv) The Bharat Ratna
l. Mother Teresa passed away on ——.

(i) September 5, 1979 (i1) December 5, 1997

(iii) September 5, 1997 (iv) December 5, 1979
m. Teresa founded the home for ——.

(i) The old people (i) The blind people

(iii) The lame people (iv) The dying destitute
n.  Mother Teresa along with her —— gathered the dying people.

(i) sisters (ii) brothers (iii) students (iv) fellow nuns
0.  Mother Teresa has taught the world how to ——.

(i) become rich overnight (i) exploit the general masses

(iii) take bribe from people (iv) extend our hand towards the needy
p. Mother Teresa brought —— to Nirmal Hridoy

(i) only men (ii) only women (iii) only children (iv) all of them
g. Mother Teresa and her fellow nuns brought to ‘Nirmal Hridoy’.

(i) the poor people (ii) the old people

(iii) the blind people (iv) sick and dying people
Answer the following questions. 2x5=10

What do you think the world salutes Mother Teresa?

a
b.  What has she taught us?

c.  What opportunity did the unloved and uncared people get in touch of Mother Teresa?
d When did she receive the Nobel Peace Prize?

e When did she pass away?

Extra Practices

f.  What is the picture of Mother Teresa in our mind?

g.  What prize did she get in 19807

h.  What moved Mother Teresa?

i. Why did she found Nirmal Hridoy for?

J. What did she and her fellow nuns do?

k. Why does the world salute Mother Teresa?

l. What did she teach us?

m.  When did Mother Teresa die?

n.  What was the feeling of the unloved and uncared people in touch of Mother teresa?

Fill in each gap with a suitable word of your own based on the information in the text. 0.5x10=5

. Mother Teresa (a) __ a glazing (b)___ for saving (c)____ all over the (d)___. So long
(e)__ the world (f)__ the people will (g)___ her with (h)__ honor and (i)___. She has
become the ideal (j)___ for saving humanity.

Extra Practices

ii.  Mother Teresa has (a) ------ the helpless people througout the (b) ------ in her whole life.
Her work has been recognised all over the globe. She also received The (c) ------ Peace
Prize for her outstanding (d) ------ for the humanity. The whole world salutes her with
great (e) ------ for her motherly love and (f) ----for humanity. She has (g) ------ us how to
(h) ------ the humanity (i) ------ of caste, creed and (j) ----- .



Mother Teresa (a) ------ a very soft and vast (b) ------ . She was deeply (c) ------ by the
presence of the (d) ------ and dying destitutes. She (e) ------ a home named "Nirmal
Hridoy" (f) ------ them. The (g) ------ and uncared people get an (h) ------ to die inan (i) --
---- of kindness, love and (j) ------ :

4. Complete the table below with information from the passage. 1x5=5
Dr. Muhammad Yunus was born in the seaport city of Chittagong in 1940. Professor Yunus studied
Economics at Dhaka University. Then he received a full bright scholarship to study Economics at
Vanderbilt University, USA. He received his PhD in Economics from Vanderbuilt University, USA
in 1969. And the following year he became an Assistant Professor of Economics at Middle
Tennessee State University. Returning to Bangladesh, he became the Chairman of the department of
Economics at Chittagong University. He established the Grameen Bank in 1983. He believed that
credit is a fundamental human right. His objective was to help poor people escape from poverty by
providing loans on terms suitable for them and by teaching them a few sound financial principles so
that they can help themselves. Muhammad Yunus received the Nobel Prize for peace in 2006 for the
attempt to remove poverty from the society.

Person Action/Achievement Place/Country Time
Dr. Yunus born Chittagong (a) —
Yunus received (b) — Vanderbuilt University of (¢c) — | 1969
The Grammen Bank| established (d)—
(e) — Nobel Prize 2006
5. Write a summary of the passage in no more than 90 to 100 words. 10
6. Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5
Column A Column B
a. We cannot lead our lives smoothly i.  that money gives us happiness and delight.
b. The reason is ii. only money cannot give us happiness.
c. A person without money has iii. absolutely a personal matter.
d. Today nobody pays any respect iv. he hasto do a lot of jobs.
e. Infact, itisalso true that V. without money.
vi. to depend on the pity of others.
vii. aperson who is not in possession of
enough money.
7. Read the following sentences and put them in correct order. 1x8=8
(@) He took the feathers one by one and stuck them in among his own feathers.
(b) When he returned to the crows, they also drove him away.
(c) One day, the crow found some beautiful feathers of a peacock in a jungle.
(d) They attacked him, pulled out the feathers and drove him away.
(e) He looked at himself and became glad and proud because he was no longer ugly like other
Crows.
()  The crow realized his fault and promised he would never be false or over ambitious.
() Once a crow thought that he was ugly to look at and wanted to be beautiful.
(h) So, he made up his mind to go to the peacocks and live with them but the peacocks

thought that he was a crow in the guise of a peacock.
Vg
MODEL QUESTION '@

Part A : Reading Test (Marks-50)

Read the passage carefully and answer the questions following it. Unit-7: Lesson-7(B)



Steven Paul Jobs ( 24 February 1955 — 5 October 2011) , most popularly known as Steve Jobs was
the co-founder, chairman and chief executive officer of Apple Inc. He was the pioneer of the
personal computer revolution. He was famous for his career in the electronic field of computers and
consumers. This became possible through the marketing of Apple computers.

In 1985, Jobs left Apple after losing a power battle with the board of directors. He then founded
NeXT, a computer platform development company specializing in the higher education and business
market. On the other hand, Apple failed to bring up any new operating system during Job’s absence.
Jobs returned to Apple as an adviser, and took control of the company as an interim CEO. By 1998,
Jobs brought back Apple to profitability from the verge of bankruptcy. He supervised the
development of iMac, iTunes, iPod, iPhone and iPad. These devices are so simple and user friendly
that even a child can operate them.

He supervised the company’s Apple Stores, iTunes Store and the App Store too. The success of these
products and services brought about steady financial returns for several years and pushed Apple to
become the world’s most valuable publicly traded company in 2011. This triumph is regarded as the
greatest turnarounds in the business history.

Steve Jobs has been highly acclaimed as a visionary leader. Jobs has changed people’s perspective
computer, and how they use it, consume personal media, and how they communicate with each other.
Hence i-Books, i-Phones, i-Pods and i-Pads have become extremely popular. Jobs saw and felt the
need of Wi-Fi (wireless internet connection) in laptops. It is who made Wi-Fi a standard feature of
every laptop, and of many other devices worldwide. So Jobs’ dream to be anywhere anytime became
a reality.

Jobs also co-founded and served as chief executive of Pixar Animation Studios. He became a
member of the board of directors of The Walt Disney Company in 2006, when Disney acquired
Pixar.

1.  Choose the best answer from the alternatives. 1x7=7
a.  Steve Jobs was the co-founder of —.
(i) Apple (if) Walt Disney Company
(iii) Pixar Animation Studios (iv) Microsoft
b.  Steve Jobs was specialized in the field of —.
(i)networking (ii) software
(iii) photography and consumer (iv) computer
c.  Steve was the founder of —.
(i) Apple (ii) Microsoft (iii) Google (iv) NeXT
d. 1Ipod, ipad, Mac etc are very — to use.
(i) tough (ii) funny (i) vulnerable (iv) easy
e.  Apple became the world’s most valuable publicly traded company in —.
(i) 2011 (ii) 1985 (iii) 1998 (iv) 2006
f. Steve Jobs was a — leader.
(i) powerful (ii) famous (i) visionary (iv) notorious
9. The products of Apple are —.
(i) very popular  (ii) very costly (iii) very appealing  (iv) very complicated

Extra Practices

h.  Steve Jobs innovative ideas —.

(1) brought about a revolution

(i) changed the world

(iii) made a big profit

(iv) changed people’s notion regarding computer
I. When did Steve Jobs pass away?



2.

3.

4,

(i) 5 October 2010 (ii) 24 February 2011

(iii) 05 October 2011 (iv) 24 October 2011
J.  What does the word Pix mean?

(i) pictures (i) photograph (i) 1 & i (iv) none of the above
Answer the following questions. 2x5=10

Why did Steve leave Apple?

Can you mention some of the products of Apple?

Which company was co-founded by Steve Jobs?

In which sector Steve Jobs was specialized?

e.  How did Apple escape bankruptcy?

Fill in each gap with a suitable word of your own based on the information in the text. 0.5x10=5
Steven Paul Jobs was an American (a) . He is best (b)___ as the co-founder, chairman and
CEO of Apple. (c)__ Apple, he was widely recognized as a (d)___ pioneer of the personal
computer and for his influential career in the (¢) __ and consumer (f)___ fields. Jobs also co-
founded and (g)____ as chief executive of Pixar Animation Studios. He (h) __ became a (i)___
of the board of directors of The Walt Disney Company in (j)___

Complete the table below with information from the passage. 1x5=5

oo oy

Bangladesh is a developing country of Asia. It is in South Asia. Average literacy rate of Bangladesh
is 56.8%. But there is a difference between male and female literacy rate. Here male literacy rate is
61.3% and female literacy rate is 52. 2%. The Republic of India is a vast state located in South Asia.
The literacy rate of India is 74%. Male literacy rate is 82.1% and female literacy rate is 65.5%. The
Islamic Republic of Pakistan is another country of South Asia. Like India, Pakistan adopted the
British pattern of education after independence. The literacy rate of Pakistan is 54.9%. But there is a
long gap between male and female literacy rate. Here male literacy rate is 68.6% and female literacy
rate is 40.3%. Among the three countries, we find that female literacy rate in Pakistan is the lowest.

o

Country Average Literacy Rate | Male Literacy Rate | Female Literacy Rate

Bangladesh | (a) — 61.3% 52.2%

(b) — 74% (c)— 65.5%

Pakistan (d)— 68.6% (&) —
Write a summary of the passage in no more than 90 to 100 words. 10
Match the parts of sentences given in column ‘A’ and column ‘B’ to write five complete
sentence. There are more parts of sentences in column ‘B’ than required. 1x5=5

Column A Column B

a. Joynul Abedin was a i. apolice officer by profession.

b. This famous artist was born at ii. so he drew pictures in secret.

c. His father Mr. Tamiz Uddin was | iii. and at the age of 11, he got himself admitted into

Kolkata Government Art College.

d. He did not like the hard and fast | iv. world famous artist.
rules of the school and

e. He had an desire to be an artist V. In search of an art school there

vi. aremote village in Kishoreganj in 1914

vii. spread all over the world.

Read the following sentences and put them in correct order. 1x8=8
(@) The children would shout with joy when they saw him



(b) He would never refuse to assist a neighbour.

(c) Rip Van Winkle was born at a village in America.

(d) His wife scolded him always for his idleness but in vain.

(e) He did not like to work in his own farm but he caught fish all day without murmur.
(f) Rip Van was not really lazy.

(g) He was simple and good natured.

(h) He told them stories of ghosts and witches.

Class—9 2"d Part

MODEL QUESTION |-@

Part A : Grammar (60 Marks) 0.5%x10=5

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once.

| deed [to |inspire |educate |letter [important | different |even [in |
A man of (a) —— is respected always (b) —— after his death for his (c) ——. He is an (d) —
— man always (¢) —— us as his (f) —— knowledge always (g) —— us how to (h) ——
between the right and wrong. (i) —— fact, it is the (j) —— society that can help us in an
authentic way.

Fill in the blanks with suitable words. 0.5x10=5
Man is the (a) —— of his own fortune. If he makes (b) —— proper (¢) —— of his time and
does his duties accordingly, he is sure (d) —— improve and progress () —— life, but if he
does otherwise, he has (f) —— suffer when it is too late. To waste time is as bad as to commit
suicide (g) ——, our life is nothing but the sum total (h) —— hours, days and years. If we
waste (i) morning hours of life, we shall have to repent (j) the long run.

Make five sentences using parts of the sentences from each column of the table below.1x5=5
But all foods have without food.

No living beings have taken to the foods we eat.

The foods we eat are not enormous steps in preparing food.

About 80% of our illness  |can live a great effect on our health.

The scientists is related safe for us.

Complete the following text with right forms of the verbs given in the box. 0.5x10=5
|has [ deprive | decrease | live | take | materialize | bless | lost \
We the people (a) —— in Bhola are always (b) —— though we have many natural assets. We
(c) —— with several natural assets. Our total land is (d) —— day by day due to river erosion.
As a result, people () —— in coastal area (f) —— their all the belongings along with their (g)
—— places. Steps (h) —— by the government (i) —— properly because of corruption. So the

concerned authority (j) to interfere the matter.

Change the narrative style of the following text. 5
"We want to go on an excursion, sir," the students said to the Headmaster. "When do you want
to go? | think December is the perfect month™ he said to them. The students said. "Will you
give us permission?" "Sure, | will help heartily” "Thank you, sir. May Allah bless you".
Change the sentences according to directions. 1x10=10



10.

11.

(@ A newly married woman is called a bride. (Complex)

(b)  Soabridal party is a party which consists of the bride and her friends and attendants. (Simple)

(c) Relatives from this party are to observe certain rites. (Passive)

(d) Arrangements for rejoicing and merry making are also made by them. (Active)

(e) They also welcome the bridegroom and his friends when they arrive at bride's house.
(Simple)

(f) A new bride looks very smart. (Exclamatory)

(9) She looks more beautiful than any other girl. (Superlative)

(h) Relatives come to see her. (Interrogative)

(i) Relatives come to wish her. (Compound)

(3))  The new bride is wished by everyone. (Active)

Complete the sentences. 1x5=5

(@) There was an old farmer who——.

(b) Though the sons were grown-up ——.

(c) They were so disobedient that——.

(d) —— but they did not pay any heed to him.

(e) As he was getting old, :

Complete the text adding suffixes, prefixes or the both with the root words given in

parenthesis. 0.5X10=5

Smoking produces (a) — (danger) — effects on man. By smoking a man incurs both physical
and (b) — (economy) — loss. The butt end of a cigarette often causes a (¢) — (devaste) — fire.
Smoking is a kind of (d) — (addict) —. Those who become (e) — (addict) — to drug, first
begin smoking which is the initial step for addiction. We should raise (f) — (smoking) — ()
— (aware) — among our people. It is (h) — (possible) — to stop smoking by giving (i) —
(punish) —. (j) — (out) — effort from everybody is essential to minimize smoking.

Make tag questions of these statements. 1x5=5
(@ Mliteracy is a curse. Nothing is so harmful as it for our national life, ——?
(b) Yet most of us don't understand this truth,——?

(c) Itis illiteracy which hampers all the development programmes,——?

(d) So, we need to work in a body so that this can be eradicated, ?

(e) There is nobody who can deny this truth, ?

Complete the passage using suitable connectors: 1x5=5
Writing is one of the most useful things (a) invented by man. (b) —— our present
civilization depends largely upon writing. (¢) ——, we could know a little about our past (d) —

— written documents. It was impossible for us to know anything about our history. Then, a
question may arise that (e) has invented this art?

Use capitals and punctuation marks where necessary in the following text. 5
what do you want asked she alfred answered i only want to come in i am very tired please let
me come inside afterwards i will go away

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1. Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5
certain victim heinous punish liable enact
who eat execute adulterate cause inspection
Everybody knows that food (a) —— is a crime. Adulterated food is poisonous and it (b) ——
fatal diseases. People (c) —— this kind of food fall a (d) —— to liver diseases, cancer, kidney
failure and so on. Some businessmen are () —— for this sort of (f) —— work. They deserve

severe (g) —— Sometimes the authority concerned make occasional (h) —— The




government has taken (i) —— steps against them. We hope that the passed laws will be
properly (j) :

Fill in the blanks with suitable words. 0.5x10=5
Books are man's best companions (a) —— life. You may have very good friends (b) you

do not get them (c) —— the time of need. They may not behave gently (d) —— you. One or

two may prove (e) —— betrayers and do you much (f) ——. But books are always there (g) ——

you. Some books may (h) —— you laugh, some books may give you much pleasure and some

againI _r]pay provide you (i) —— new knowledge and new ideas. They remain your friends (j) ——

your life.

Make five sentences using parts of the sentences from each column of the table below.1x5=5
Education the training for proper growth.

It is the liberation of prejudice.

Nobody can prosper our minds and refines sensibility.

The purpose of education ennobles in life without education.

the process by which our mind develops.
Complete the following text with right forms of the verbs given in the box. : 0.5x10=5

| become [ curb [be  [take  |adulterate |accumulate | suffer | hanker [go |
We always (a) —— for various diseases only for food adulteration. Food adulteration (b) ——
a subject of great concern nowadays. In spite of government's sincere efforts, this evil practice
(c) —— on. We (d) —— more careful in the regard, () —— foods are (f) —— by people
everyday. Consequently the poison (g) —— in our bodies day by day and it (h) —— very
dangerous. The businessmen (i) after money (j) —— committing this heinous deed.
Change the narrative style of the following text. 5
"I came here yesterday from my village," Raja said. "Why did you come here,"” | said. "My mother
sent me to you with this letter.” "How is your mother? I have not seen her for a long time."

Change the sentences according to directions. 1x10=10
(@) People in general are fond of glittering things. (Complex)

(b) They are concerned with the outer show of things and beings. (Active)

(c) Gold is metal which is very precious. (Simple)

(d) But there are some other metals looking like gold. (Compound)

(e) They fade soon and lose their beauty. (Simple)

(f)  Gold is different from metals. (Positive)

(9) Itisvery shining. (Exclamatory)

(h)  Every one likes it. (Interrogative)

(i)  The price of gold is increasing day by day. (Interrogative)

(j)  Specially the women are attracted by it. (Active)

Complete the sentences. 1x5=5
a is not the wastage of time.

(b) If I had a lot of money ——.

(c) —— the boy went to school.

(d) The student works hard ——.

(e) Heis fond of :

Complete the text adding suffixes, prefixes or the both with the root words given in

parenthesis. 0.5X10=5

Citizens having good character lead a (a) — (virtue) —life. Their thoughts and (b) — (behave)

show high moral values. They cannot even think of doing any (c) — (moral) deed. One of the
most positive qualities of these people is tolerance towards others. Tolerance and respect to
others can make life (d) — (harmony) and (e) — (peace) in society. If a person is (f) —
(tolerant), life becomes difficult and almost (g) — (possible) for that person. As we want to
live in (h) — (happy), we must learn social norms. By obeying social norms, we can enjoy (i)

— (heaven) pleasure. On the other hand, we will suffer a lot if we (j) — (obey) these.

Make tag questions of these statements. 1x5=5
(@ He hardly goes out, ?




10.

11.

(b)  Every mother loves her child,

(c) Our exam is over. None is in tension, —— ?

(d) Let her sing a folk song, —— ?

(e) The books cost me Tk. 500/-, ?

Complete the passage using suitable connectors: 1x5=5
There lived a poor (a) honest farmer in a village. He lived a very simple life with his wife
(b) —— children. (¢) —— he was honest, he worked hard on his farm from dawn to dusk. One
day (d) —— he was walking, to his field, he suddenly saw a purse of gold on the road. He
carried it home (e) he could show it to his wife and children.

Use capitals and punctuation marks where necessary in the following text. 5

last december the sundarban circus came at our school field on friday i went there with my
elder brother when we arrived there the area was already crowded we purchased tickets and
entered the tent

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

3

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5
| getting lin | complete | fine | of | whereas | a | varies | with |
Happiness is (a) —— relative term. A person (b) —— a crown, living in palace may not be
happy (c) —— a day labourer may (d) —— happiness living (¢) —— a shabby hut. Again
happiness (f) —— from person to person. A beggar may be happy (g) —— a coin. A
businessman may be happy getting millions (h) —— money. But (i) —— happiness or -
peace of mind is (j) blessing of Allah.

Fill in the blanks with suitable words. 0.5x10=5
The Olympic Games were named (a) —— the town of Olympia in Greece. It was in Olympia
that the games were first held (b) —— the Christian era began. In those days Greece was
divided (c) —— many cities and men of different cities (d) —— to fight with one another most
of the time. () ——man named Iphitps became concerned about such wasteful strife. He hit (f)
——aplan. He invited (g) —— best athletes from the nearby cities to the valley of Olympia to
(h)—— athletic contests. Iphito's plan worked (i) ——. For a time the Greek warriors, instead
of (j) their neighbours, tried to outdo their rivals in friendly games and sports.

Make five sentences using parts of the sentences from each column of the table below.1x5=5

Drug

addiction is strong attraction for any harmful thing.

Drugs has not only a national but also a global problem

The drugs means  [used for intoxicating and stimulating effects.

Addiction are grasped the young generation of the country.

taken dy smoking or through injection.

4,

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5
| write | describe | hear [tobe | hear |[surprise |go [ imitate [ hiss | twitter |
It is quite long time since | have (a) —— from you. During this period, | did (b) —— to you.
Anyway, | will now (c) —— my visit to our National Zoo. On last Friday, | went to our
National Zoo by a taxicab at 10 am. At first, | went into the shed in which the monkeys. Before
I could get hear them, | could () —— their chattering. Then | (f) —— to the shed of the
snakes-1 was (g) —— to see a big python and a cobra that was (h) ——. Going to the shed of
the birds, | saw some birds (i) and two parrots (j) —— human voice.

Change the narrative style of the following text. 5
"Where are you from?" "Dhaka." "Why?" "I am looking for a man named Akmal." "Who is
he?" "l don't know his real identity but he would work with me in a farm.” "Sorry, no man of
that name lives here," the woman said to the stranger.

Change the sentences according to directions. 1x10=10




10.

11.

(@) A farmer had a wonderful goose. (Complex)

(b) It laid a golden egg everyday. (Interrogative)

(c) The farmer sold the eggs in the market and became rich. (Simple)

(d) The farmer became so greedy to have all the eggs in a day. (Compound)

(e) Hekilled it and lost his fortune. (Simple) .

(f)  Helost his fortune because he was greedy. (Simple)

(g) Day by day his poverty increased. (Interrogative)

(h) At last he realized his mistake and became repentant. (Complex)

(i) A greedy man like him is always unhappy. (Negative)

(1)) We should learn the lesson from the story. (Imperative)

Complete the sentences. 1x5=5
(@ Smoking is a habit which ——.

(b) Many people go on smoking though ——.

(c) —— we will suffer a lot.

(d) People can't give up smoking easily because ——.

(e) So attempts must be taken by us to :

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
We enjoy the benefits of scientific (a) — (invent) —. But, we seldom remember the (b) —
(invent) —. Many of them die (¢) — (sung) — and (d) — (lamented) —. It is our () —
(gratitude) —. We (f) — (beauty) — our life with many of their (g) — (achieve) —. But, we
(h) — (hard) — think of their (i) — (tire) — efforts to make these inventions. We should be (j)
— (thank) — to them.

Make tag questions of these statements. 1x5=5
(@) There are six seasons in Bangladesh, ——?

(b) Each season has its own features , ——?

(c) We hear new sound in each season, ——?

(d) Everything changes, ——?
(e) People also feel different weather in each season,

Complete the passage using suitable connectors: 1x5=5
Higher education is needed in our national life, () —— now a question has risen (b) itis
a luxury. (c) —— higher education is not a luxury, but the poorer section of people now think
it to be so (d) —— they cannot afford the educational expenses of their children. For the
greater interest of the nation the government should (e) —— help the meritorious students so
that they can be highly educated.

Use capitals and punctuation marks where necessary in the following text. 5

janie helped her father roast hot dogs on the campfire first she put a hot dog on a long stick
next she held the stick so that the hot dog was just above the fire after a few minutes she turned
the hot dog over finally she removed the hot dog from the fire and placed it in a bun

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of

the words. You may need to use one word more than once. 0.5x10=5

| nothing | with | of | show | remains | superiors | an | conduct | a |
Good manners form (a) —— important part of our education. Our education (b) ——

incomplete if we don't learn good manners. In our behaviour (¢) —— other we must (d) ——

proper respect for them. We should have () —— sense of fitness in our (f) —— with others.

We should show respect to our (g) ——. It is necessary for (h) __ disciplined society. Good

manners cost us (i) . S0, good manners should be a part (j) —— our culture.

Fill in the blanks with suitable words. 0.5x10=5

The word "Pahela" means the first and Boishakh is the (a) —— month of Bangla calender. The

day is observed not (b) —— in Bangladesh but (c) —— in some other parts of the world. It is
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celebrated in West Bengal, Assam and Tripura. It is also (d) —— in Australia and the UK. In
Australia, the largest () —— for Bangla new year is the Sydney Boishakhi Mela held (f) ——
Sydney Olympic park. In England, the Bangaless (g) —— celebrate the day with a street (h) —
— in London. It is the (i) Asian festival in Europe, (j) Bangladesh and west Bengal.

Make five sentences using parts of the sentences from each column of the table below.1x5=5

Self-confidence helps a man to reach the goal of life

It should one to lose his self-confidence

The lack of determination exercise not enjoyable.

Success without self-confidence | is one of the invaluable human qualities.

One leads it in order to overcome the problem of life.
Complete the following text with right forms of the verbs given in the box. : 0.5x10=5
lrun [spend | wear |have  [enjoy |be | earn bring | make | enrich |
Money (a) —— one happy unless it (b) —— through fair means. There are people who (¢) —
— a lot of money but it (d) —— peace of mind to them. Their hours and days (e) —— only for
earning money. Thus they get used to (f) —— after it till death. They (g) —— their bags of

money but their money is a liability to them. Costly dress is (h) ——by them but their costly
dress cannot give them peace. On the other hand, the poor (i) ——happy though they do not
have wealth or money. They (j) the peace of mind.

Change the narrative style of the following text. 5
"Have you seen your mother, Jerry?" "l see her every summer. She sends for me." | wanted to
cry out. "Why are you not with her? How can she let you go away again?" He said, "She comes
up here from Manville whenever she can. She does not have a job now."

Change the sentences according to directions. 1x10=10
(@) Success will not come to one's life automatically. (Interrogative)

(b) Do you know it? (Passive voice)

(c) Industry is the most important thing for success. (Comparative)

(d) Soitis called the mother of good luck. (Active voice)

(e) Anindustrious boy will shine in life. (Complex)

(f) A life with an assignment is an actual life. (Negative)

(g) A man who is lazy always curses his lot for his misfortune. (Simple)

(h) What a fool he is! (Affirmative)

(i)  None can receive any reward unless he works hard. (Simple)

(j) Itisevident that industry is one of the greatest virtues. (Positive)

Complete the sentences. 1x5=5
(@ I can't understand why——.

(b) Can you suggest where——?

(c) Do you mind if——?

(d) I cannot justify why ——?

(e) 1do not like the people who ?

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
Patriotism means love for one's own country and people. It is a powerful sentiment and is a (a)
— (selfish) — and noble virtue. A true patriot is a great asset for a nation. His (b) — (ideal) —
gives him courage and strength. It (c) — (courage) him to sacrifice his life for the sake of (d)
— (free) — and honor of his country. By (e) — (be) — a patriot, one can bring (f) — (prosper)
— for one's country and remove her sufferings. But false (g) — (patriot) — expression is
dangerous and (h) — (disaster) —. Patriotism is (i) — (price) — but it must not supersede the
feeling of (j) — (universe) love for humanity.

Make tag questions of these statements. 1x5=5
(@ 1think you live in an extended family, ——?

(b) Yes, I do. But I think a small family is not favourable for our mental growth, ——?

(c) You are right, we have to spend most of the time alone in a house, —— ?

(d) This is because our parents cannot spare time for us, —— ?

(e) Letus live in an extended family as our grandparents did, —— ?

Complete the passage using suitable connectors: 1x5=5
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Illiteracy is curse of our country. (a) —— we are responsible for our being illiterate. (b) ——
our government has taken steps to remove illiteracy from the country. Illiteracy causes great

harm to us. (c) —— we do not understand, we cannot take steps to improve our poor condition.
(d) —— we are lagging behind. We are dependent on foreign grants. (¢) —— we are not
aware of the importance of literacy, we will not be able to change our lot.

Use capitals and punctuation marks where necessary in the following text. 5

we would like to go on an excursion can we have your permission sir said the students yes you
can arrange it after the examination is over and you should choose a historical place for that
replied the headmaster thank you sir

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5%x10=5
la |after to  |up in |the |strengthen |desire |
It is (@) —— instinct of everyone to climb (b) —— the top in position and power. Man always
hankers (c) —— power. There is no other passion (d) —— the world which is so universal as
(e) —— love of power. Power is the source of all (f) ——. Man tries his best to achieve it.
However, excess of (g) —— for power leads (h) —— disaster. But people always rush after
this power. Sometimes, (i) —— whole nation or society is maddened by this passion. It tries to
swallow (j) smaller and weaker neighbours.

Fill in the blanks with suitable words. 0.5x10=5
Family provide psychological support to adult as well (a) -——— to the children. It is an
important task of family to (b) —— boredom and loneliness. Large family can give us this
psychological (c) ——. But today kinship is (d) ——. Large extended families are giving (e)
——- to small, nuclear families. Here is less responsibilities towards relatives and here is less
(f) —— and cooperation. Children of such families are deprived of love and sympathy of (g)
.Asa (h) , they often suffer (i) psychological (j) :

Make five sentences using parts of the sentences from each column of the table below.1x5=5
Bangladesh creates a great problem in Bangladesh.

Population problem some causes behind overpopulation in Bangladesh.

There are proper steps to control the growth of population as soon as
The government is possible.

should take |other problems like poverty, disease, illiteracy etc.

an overpopulated land.
Complete the following text with right forms of the verbs given in the box. : 0.5x10=5

take worry pray give offer shuttle

remain keep make do be publish
With extreme competition everywhere parents are constantly (a) —— about the results. This
(b) —— a common sight during the S.S.C. Examinations in thousands of families. Special
prayers (c)—— in families having such an examinee. Parents (d) —— special care of their
children. They (e) —— sure that their wards get along with studies without the slightest of
problems even without mosquito bites. Parents (f) —— to mazars and temples and (g) —— for
the examinees. Sometimes they (h) —— cash money and kinds of their wards. Parents of an
examinee usually (i) worried until the result (j) ——.
Change the narrative style of the following text. 5
The man said to his son, "Where have you been so long and why are you wasting your time?"
After a moment he said, "Will you not appear in the final exam?" "l went to my friend's house
to borrow an essential book but he was not at home. So | had to wait for him," the son said.
Change the sentences according to directions. 1x10=10
(@ Shumaya who reads in class IX is a brilliant student. (Simple)
(b)  She lives in a small family. (Negative)
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() No other member in her family is as busy as she. (Superlative)

(d) Conditions in her house are very unfavourable. (Negative)

(e) She cannot concentrate on her study because of chaos and confusion in her family.
(Compound)

(f)  Inspite of having a separate room of her own, she feels disturbed. (Complex)

(9) She has to share her room with others. (Interrogative)

(h)  She wishes she were born in a small family. (Exclamatory)

(i)  The new-born baby of her aunt keeps her very busy. (Passive)

(3))  Her mother is helped in household chores by her. (Active)

Complete the sentences. 1x5=5

(@) Everybody wants friends ——.

(b)  The heart formed for love cannot be happy without ——.

(c) You cannot receive affection if ——.

(d) You cannot find others to love you unless ——.

(e) , everybody wants it.

Complete the text adding suffixes, prefixes or the both with the root words given in

parenthesis. 0.5X10=5

English is spoken all over the world, (a) — (office) — it is regarded as an (b) — (national) —

language in the (c) — (global) — world. As an (d) — (dependent) — nation, we have to

maintain our political, commercial and () — (culture) — relations with the rest of the world

through English. So, English (f) — (wide) — the opportunity to deal with the globalised world.

It promotes (g) — (nation) — co-relation and (h) — (brother) — with the other nations. For

this reason, there is no (i) — (alternate) — of English language. In a word, we can't deny the (j)

— (import) — of this language.

Make tag questions of these statements. 1x5=5
(@ You, he and I did the work, ?

(b) Rahim as well as Karim will do the work, ——?

(c) None is none on the world, ——?

(d) When he came I left the class,——?

(e) Happy Birthday to you, ?

Complete the passage using suitable connectors: 1x5=5
Women are nowadays as important as men in society. They constitute nearly half of our total
population. (a) ——, there can be no denying the fact (b) —— they too possess equal rights
and duties (¢) —— men do. They have noble missions to fulfil as men. (d) —— they get
opportunity, their genius, powers (e) capacities will bloom fully.

Use capitals and punctuation marks where necessary in the following text. 5

do you know the prisoner at the bar asked the judge yes answer the postmaster | saw him in
london i knew him ever since he was a child

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5

lwith lin  |write by lto [a |the |without |
Michael was (a) —— poor shepherd living (b) —— Lake District of England. He was frugal
and industrious. His wife Isabella was also hard working. Their son Luke was (c) —— apple of
their eye. He was a great comfort of them, (d) —— their old age. But faced (e) —— a sudden
and unexpected financial crisis, they were compelled to live (f) —— the company of their
beloved son. Luke went to London to work. He was employed (g) —— a business owned (h)




— arelative. The relative was satisfied (i) —— his work. A dutiful son, Luke (j) —— home

regularly.

Fill in the blanks with suitable words. 0.5x10=5
Good conduct is a noble (a) . Our holy Prophet (sm) was indeed a (b) —— of good
conduct. He always prayed (c) —— good conduct and (d) —— of mind. It is the good conduct
(e) — wins the love of others, makes the foe into (f) ——. It is essential for a (g) —— society.
It costs us (h) —— but gives us many (i) ——. So we should (j) —— it in our conduct with
others.

Make five sentences using parts of the sentences from each column of the table below.1x5=5
Bangladesh considerably during the medieval period

Its deeply rooted heritage developed |a rich fictional legacy

The three primary religions of|is had a great influence on its culture and history
Bangladesh

The people of Bangladesh have thoroughly reflected in its architecture, literature

and music

Bangla literature has a rich, diverse culture

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5
| give | realize | provide | help [are |destroy|do | think | cause | face |
Trees (@) —— useful to man in three very important ways. They (b) —— him with wood and
other products, they (c) —— him shade and they (d) —— to prevent drought and floods.
Unfortunately, in many parts of the world man has () —— that the third of these services is
the most important. People are (f) —— harm to trees in many ways. They are (g) —— forests.
They hardly (h) —— that present world is (i) —— many environment problems of
deforestation (j) by humans. We need massive afforestation to save the earth.

Change the narrative style of the following text. 5

"Why did you not go to school yesterday?" said the mother to the girl. "I was ill, mum," the girl

said. "How are you today?" the mother said again. "Well," said the girl, "Don't worry for me."

Change the sentences according to directions. 1x10=10

(@) Bangladesh is a land of rivers. (Complex)

(b) Itis one of the smallest countries too. (Positive)

(c) Itsagriculture depends on these rivers only. (Complex)

(d) These rivers are used for communication too. (Active)

(e) These rivers are used not only for cultivation but for communication. (Negative)

(f)  These rivers are called the life line of our country for their assistance. (Compound)

() These rivers are both a blessing and a curse. (Negative)

(h) Sometimes these rivers bring about untold sufferings in our life causing flood.
(Compound)

(i) They take a devastating assume during rainy season. (Complex)

(3)) We should protect these rivers for our betterment. (Negative)

Complete the sentences. 1x5=5

(@) Early rising means ——.

(b) One who gets up early ——.

(c) Ifamanrisesearly, —.

(d) Anearly riser gets enough time to——.

(e) Itisa habit that :

Complete the text adding suffixes, prefixes or the both with the root words given in

parenthesis. 0.5X10=5

Man can have (a) — (popular) — by means of service to people. People in power can have

honour. But this honour will not last long if their behaviour is not good. When common people
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are (b) — (mental) — hurt by their (c) — (behaviour) —, usually they do not express their
feeling in front of them. But they make (d) — (criticize) — of their manners and (e) — (regard)
— them later. Good deeds arid behaviour (f) — (noble) a person. His (g) — (praise) —
activities (h) — (dear) — him to everyone. He does not (i) — (heart) people. On the contrary,
he works for the (j) — (satisfy) — of the desires of the people.

Make tag questions of these statements. 1x5=5
(@) None can do this, ?

(b) Let's discuss the matter again, ——?

(c) 1 sometimes help my mother, ——?

(d) Kindly do me a favour, ——?

(e) 1 have never seen him, ?

Complete the passage using suitable connectors: 1x5=5
Liberty has to be obtained by a way of long drawn struggle, () —— even a bloody war. But
(b) —— it is achieved the struggle or the war ends. Then comes the question of maintaining
the liberty earned at a great cost and sacrifice. But to maintain the liberty of a nation is a very
difficult task. It is even more difficult (c) —— to achieve it. National liberty in the true sense is
(d) political and economic liberty (e) freedom from poverty and illiteracy.

Use capitals and punctuation marks where necessary in the following text. 5

one day meena and her parrot mithu climbed a tall tree to pick a mango she picked the mango
and took it to her mother but her mother gave the larger share of the fruit to raju her brother.

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5

| between | saying | physical | of [on |an [ personality | for | participation | beneficial |

Sports are very essential (a) —— us. There are various types (b) —— sports. Among them
cricket, football, volleyball etc. are very popular. All types of sports are (c) to us. There is
a relation (d) —— the body and mind. A sound mind lives in a sound body," is a wise (e) —
— . In order to win success in life we should have sound health which depends (f) —— regular
(g) —— in games and sports. Sports keep us (h) —— fit. Sports exercise (i) —— important
influence in forming one's (j) :

Fill in the blanks with suitable words. 0.5x10=5
It is difficult to forget (a) day when my sister (b) —— married and moved away. It
happened (¢) —— 3 March 2005 and | can (d) —— vividly the wedding ceremony () ——
dinner and (f) —— emotional farewell she took from me. She was my father's favourite and
he wanted her to be given away (g) —— maximum pomp. But when she was to take farewell

(h) father it was (i) most pitiable scene. I (j) into loud crying.

Make five sentences using parts of the sentences from each column of the table below.1x5=5

Education us how to earn well and how to spend well

It is be largely attributed to most people's inaccessibility to
education

It can essential for any kind of development

No nation teaches|prosper without education

The present socio-economic the backbone of a nation

condition of Bangladesh

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5

| express | make | want [ change [leave |find | observe | accept | declare | orbit |

Galileo was born in Italy in 1542. His father (a) —— him to study medicine. But he became a

professor of Mathematics (b) —— his medicine course. Galileo observed the solar system with

a telescope (c) —— by himself and came to the conclusion that the earth and other planets

orbit the sun. Previously Copernicus (d) —— the same view which went against the Bible. The
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church forced Galileo to disown his view publicly but he did (€) —— his real belief till his
death in 1942. Though his view was not (f) —— then, he was right in his observation. Later,
the church (g) —— him right. Nowadays, people of all classes can easily (h) —— with more
powerful telescope that earth and the planets (i) —— the sun as seen and (j) —— by
Copernicus and Galileo.

Change the narrative style of the following text. 5
"Comrades," said he, "Listen to me; for though | often talk nonsense, | can talk sound sense
when | choose. Fortune has sent us this treasure that we may lead a life of ease, and we will
spend it as lightly as we have come by it. Who could have guessed when we set out today that
we should come by so fair a fortune?"

Change the sentences according to directions. 1x10=10
(@ Nelson Mandela was the greatest leader of South Africa. (Comparative)

(b) Infact, very few leaders in the world were as great as he. (Superlative)

(c)  All his life he struggled against apartheid. (Compound)

(d) It was the government policy of racial segregation. (Negative)

(e) The black were not treated kindly. (Affirmative)

(f)  The black were subjected to all sorts of indignities. (Complex)

(g) Even dogs received much better treatment than the black. (Positive)

(h)  The great leader vowed so that he could put an end to the inhuman practice. (Simple)

(i)  He was thrown behind the prison bars. (Active)

(j) But the oppressive rulers could not break his spirit. (Passive)

Complete the sentences. 1x5=5
(@) That honesty is the best policy ——.

(b) Anhonest man is —.

(c) He may not be rich but——.

(d) Only honest way can lead the country ——.

(e) Everybody should tr :

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
Man is the supreme being of all (a) — (create) —. Man has got (b) — (rational) —. With it he
can do or (c) — (do) — anything. In his mind there is the (d) — (expect) — of conquering
anything difficult and (e) — (danger) —. Hillary and Tenzing were not also (f) — (except) —.
They were not daunted of difficulties and dangers. All the dangers were (g) — (come) — to
conquer the highest mountain in the world by them. They were not only brave but also (h) —
(labour) —. For their (i) — (brave) — and (j) — (hard) — their names have been written in
history in respect.

Make tag questions of these statements. 1x5=5
(@) The mother loves her child, ?

(b) Let me comein, ——?

(c) A barking dog seldom bites, ——?

(d) How nice! —?

(e) Her father is a teacher, ——?

Complete the passage using suitable connectors: 1x5=5
Everybody knows (a) sincerity is the key to success. A sincere person can prosper in life.
The man (b) —— does not follow the rules of sincerity can never go a long way in the world.
Many a man is not conscious of the importance of sincerity for (c) —— they don't have the
benefit of success. (d) ——, we should be sincere to our work. (¢) —— we are sincere to our
work, we will suffer in the long run.

Use capitals and punctuation marks where necessary in the following text. 5

follow my example she said as we shook hands and never eat more than one thing for luncheon
ill do better than that i retorted ill eat nothing for dinner tonight humorist she cried gaily
jumping into a cab

MODEL QUESTION |—@




Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of

the words. You may need to use one word more than once. 0.5x10=5
| select | from [ to | for | of | profession |a [ in |
There are various kinds (a) —— profession. So (b) —— profession varies (c) —— man to
man. Selection of profession is very important (d) —— a student. He faces difficulties (&) ——
choosing a right (f) ——. He is (g) —— prefer a profession very carefully. If he can choose his
profession accurately, he can shine (h) —— life. (i) —— good boy determines his profession
very carefully. Having (j) a profession he advances.

Fill in the blanks with suitable words. 0.5x10=5
Freedom does not come automatically. People must raise them (a) —— it. It must be earned (b)
—— it can be enjoyed. According to (c) —— old idea, freedom means freedom (d)
foreign domination. "Freedom really means freedom (e) —— want, disease and ignorance." (f)
—— real freedom, we must free our people (g) —— want, disease and ignorance. We can (h)
—— our rightful place (i) —— the modern world (j) —— using all our resources and all our
energies.

Make five sentences using parts of the sentences from each column of the table below.1x5=5
Emotion should above it

It exists be controlled to work properly

Nobody be subordinate to it

We.all a silent killer

So it almost in everybody

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5
| finish [take [ help [ be [go  [come [get | suffer | send | know |
My dear X,

The news of your sudden admission into Sylhet Osmani Medical College Hospital (a) —— me
a back. I have learnt that you (b) —— from gastric pain for about a week. | (c) —— beside you
in the hospital. But you (d) —— my text examination (e) —— on. It (f) —— on the 2nd
proximo. Immediately after the examination, I (g) —— to meet you. | (h) —— my younger
brother, John to hand you some books. These (i) —— you to remove your boredom, (j)——not
nervous.

Yours sincerely,

Y

Change the narrative style of the following text. 5

Sohel asked Alok, "Friend, have you ever visited the National Memorial at Savar in Dhaka?

Wow, how splendid it is!" "Yes, | haven't yet gone there. But | must visit there after the SSC

exam is over." "It has been built in memory of the martyrs of our Liberation War. May God

bless their souls,” Sohel said.

Change the sentences according to directions. 1x10=10

(@) Traffic jam is the most serious problem in Dhaka city now. (Comparative)

(b) It has become a common affair in most of the cities and towns. (Negative)

(c) Sometimes this jam is so acute that it blocks more than a kilometer of a street.
(Compound)

(d) It Kkills our valuable time. (Passive)

(e) By taking some pragmatic steps we can solve this problem. (Complex)

()  More wide roads can be constructed. (Active)

() Law should be implemented to ensure punishment. (Complex)

(h)  Drivers who are experienced should be given license (Simple)

(i)  Public awareness is more important than any other step. (Superlative)
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(3  Then life in Dhaka city will be very enjoyable. (Exclamatory)

Complete the sentences. 1x5=5
(@) Truthfulness is a great virtue because ——.

(b) One cannot command the respect of others unless ——.

(c) One may succeed once or twice by telling a lie but——.

(d) ——ifyouarealiar.

(e) So, itisawise decision :

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
Answer to the questions in the examination should be to the point. You should not (a) —(large)
— your answers (b) —(necessary) —. When you write main ideas, you can (c) short your
sentences. Only (d) —(elaborate) — of the answers is simply a (e) —(waste) — of time. This
practice (f) —(please) — the (g) —(examine) — and they get (h) —(irritate) — and do not
want to give high marks. So, students are advised to be (i) —(caution) — and to avoid (j) —
(relevant) — points in the answer.

Make tag questions of these statements. 1x5=5
(@) Nobody can ignore his lot, ?
(b) 1 am too weak to go, ——?

(c) Letusdo the work, ?
(d) Happy birthday to you, —— ?

(e) Birds fly in the sky, ?

Complete the passage using suitable connectors: 1x5=5
Yesterday | went to the house of one of my friends. | wanted to meet him. (a) ——, | did not
find him there (b) —— he had already gone out. (¢) —— I talked to his mother (d) left a
note with her. (e) I left the house.

Use capitals and punctuation marks where necessary in the following text. 5

where are you going said the merchant i was coming to see you what do you want to earn my bread
by the labour of my hands do you really want work said the merchant yes if you have any then
follow me and carry a box from a shop to my house i do not see how i can do that said the youth

MODEL QUESTION |—@

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5
| after | the | of | to | work | for [risk | lose | a |
Most people long (a) —— wealth. They think wealth brings happiness. But it often puts one (b)
—— trouble. A millionaire is (¢) —— very happy person, but his great wealth is a great
responsibility. He may have many large estates and factories. He needs (d) —— take great care
(e) —— them. There may be dispute between the millionaire and his (f) ——. It may invite
one trouble (g) —— another. This dispute may turn (h) —— strike. In this case, (i) ——
millionaire may face the (j) —— of a huge money. In spite of being rich, he therefore may not
have an easy life.

Fill in the blanks with suitable words. 0.5x10=5
Once there was (a) old king. He was averse (b) —— physical labour. As a result, he grew
very fat and could not move from one place to another (c) ——. He called (d) —— a doctor.
The doctor could easily understand that the () —— of the king is the root cause of his (f) —.
He (g) —— that if he could reduce the obesity of the king, the king would feel well. But the
only way to do this was to (h) —— the king to do physical (i) ——. The doctor was afraid how
he could ask a king (j) — physical labour.

Make five sentences using parts of the sentences from each column of the table below.1x5=5
|She |contributed |to our Bengali literature to a great extent |




10.

Begum Rokeya |had the pioneer in awakening Muslim women folk
Our nation was born in Rangpur

considers her to be a great lady
a great eagerness for education from her childhood

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5

sacrifice achieve struggle rule stamp strangle

be consider uphold demonstrate been demise

Bangladesh (a) —— by world communities as a country of all possibilities. We can (b) ——
our lives with a view to (c) —— the rightful position of our mother tongue and for (d) ——
freedom. On the other hand, we can () —— our ungratefulness by killing the organizer of
independent. We (f) —— for democracy arid subsequently strangle it while in (g) —— the
country. We can become frequently world champion in corruption. Again we vow to (h) ——
out it from our national life. We have already (i) —— successful to bolt the spot of being the
most corrupt in the world. What a strange nation we (j) !

Change the narrative style of the following text. 5
The teacher became very angry with the students and said, "Why have you again disturbed the
class in this way? | have told you before that when | am speaking, you should be silent. Leave
the room and don't return again today.” "We are extremely sorry sir. Please pardon us," they
said.

Change the sentences according to directions. 1x10=10
(@) Water is one of the most useful elements in nature. (Positive)

(b) Itisavery important asset. (Exclamatory)

(c) We cannot pass a single day without water. (Interrogative)

(d) Its main source is the rain that, builds streams, lakes and rivers. (Compound)

(e) We have rain during the monsoon. (Complex)

(f)  Heavy rainfall often causes flood. (Passive)

() Crops are damaged. (Active)

()  Our winter is dry. (Negative)

(i)  Does rainless winter bring good harvest? (Assertive)

(3)) We can grow more crops if we can make the best use of rain. (Simple)

Complete the sentences. 1x5=5
(@ When the beggar came to me, ——.

(b) If you invited me, —.

(c) She will swim after ——.

(d) Ashewasill, —.

(e) The old woman is so weak :

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
Road accidents have (a) — (recent) — become a regular phenomenon in our country. As a
result of the accidents many persons fall a victim to (b) — (timely) — death. It is reported that
most of the accidents occur because of the (c) — (violate) of traffic rules by (d) — (skilled) —
drivers and (e) — (conscious) — passers-by. Many (f) — (licensed) — and (g) — (fault) —
vehicles run on the streets. These vehicles (h) — (danger) — the (i) — (safe) — of passengers
and the passers-by. But many of us are (j) — (aware) — of this danger.

Make tag questions of these statements. 1x5=5
(d Mina needs to study a lot, ?
(b) Let them discuss the matter, ——?

(c) He put the book on the table,——?

(d) Nobody can deny death, ——?

(e) Neither of them could do the work, ?

Complete the passage using suitable connectors: 1x5=5




11.

It is often said that our large population is our number one problem. (a) —— it is not true. (b)
——, large population can be turned into a unique manpower in a country. (c) —— China can
be cited, (d) —— her population is more than 1200 million, she is progressing day by day. (e)
we are lagging behind.

Use capitals and punctuation marks where necessary in the following text. 5
my name is hasan jamil i was born in bangladesh i have completed my higher education from
dhaka university i love my country most it is a beautiful country

MODEL QUESTION |—Q

Part A : Grammar (60 Marks)

1.

Fill in the blanks with the words from the box. You may need to change the forms of some of
the words. You may need to use one word more than once. 0.5x10=5
| reflect la  [in | the lat  |an | enchanting | from |
The Kuakata beach lies (a) —— the southern extremity of Bangladesh. It is one of (b) ——
rarest beaches of the world that allows us to have (¢) —— full view of sunrise and sunset. The
(d) —— of sunrise and sunset in the water of (¢) —— Bay of Bengal is really (f) ——. The
scene captivates human mind. The beach is not far from (g) —— Sunderbans. It has charming
coconut groves (h) —— the background. It is also a sanctuary of migratory birds. Many birds
0] the north come in winter here. So travellers can have (j) —— extra pleasure.

Fill in the blanks with suitable words. 0.5x10=5
On an average, people in the (a) are exposed to sound ranging from 30 to 90 decibels or
even more. A study in Japan has found that (b) —— who (¢) —— in the city were exposed to
almost the same amount of sound that a factory worker was (d) —— to at his/her () —— .
The occupations that the study (f) —— to be the noisiest were factory work, truck driving and
primary school (g) —— . Many developed countries are trying to (h) —— sound pollution by
0] town planning and developing (j) awareness

Make five sentences using parts of the sentences from each column of the table below.1x5=5

Television also used for distance learning

It are not only enjoyable but also highly educative

Television programmes |is a television set today

They have the widespread source of entertainment now

All families telecast on numerous channels

Complete the following text with right forms of the verbs given in the box. : 0.5x10=5
lattain  [make establish ~ [obey  [perform [connect  [bring |pass |
Parents and children (a) —— a family. They (b) —— with one another by blood, love and
affection. The children (c) —— through the days of infancy without the loving care of their
parents. It is the parents who (d) —— them up, nourish them, nurse them in sickness, give
them proper educational help to get () —— in life. Parents have to (f) —— their duties so that
their children can (g) ——. But children have certain duties to be (h) —— by them for (i) ——
prosperity. They must (j) their parents.

Change the narrative style of the following text. 5
"Whom can | trust with my riches during our absence?" asked Mostofa to his son. "My friend,
the Armenian of course. He is the most honest man in Damaskas," his son said. "OKk. I'll accept
your suggestion for once".

Change the sentences according to directions. 1x10=10
(@ The postman is the most familiar figure. (Use positive degree)

(b) Very few persons are as eagerly waited as he. (Use comparative degree)

(c) Everyday we see him when he goes on a khaki dress. (Simple)

(d) He delivers letters, money orders, parcels, etc to the addresses. (Passive)

(e) He must go from one house to another in fair weather or foul. (Negative)

() He renders valuable service to us. (Complex)




10.

11.

(9) He attends the office in time. (Interrogative)

(h)  He opens the mail bags to sort the letters. (Compound)

(i)  But he is very much neglected. (Exclamatory)

(j)) We should pay him due respect. (Passive)

Complete the sentences. 1x5=5
(@) Honesty is the best policy that——.

(b)  An honest man is —.

(c) He may not be rich but ——.

(d) Only honest way can lead the country——.

(e) Everybody should try ——.

Complete the text adding suffixes, prefixes or the both with the root words given in
parenthesis. 0.5X10=5
English is used as a common language for global (a) — (communicate) —. As it is used in
more than sixty countries (b) — (office) —, it is regarded as an (c) — (national) — language.
As an (d) — (dependent) — nation, we have to maintain our political, commercial and (e) —
(culture) — relations with the rest of the world through English. Thereby, English (f) — (wide)
— the opportunity to deal with globalised world. It promotes international (g) — (relation) —
and (h) — (brother) —. For being a (i) — (globe) — citizen, there is no alternative of English.
A good command of English is very essential to get a good job with better salary. In short,
English is a must for (j) — (nourish) — in life.

Make tag questions of these statements. 1x5=5
(@ What a brilliant result you have made,—— ?

(b) We feel proud of you,——?

(¢) Thank you, Rabin,——?

(d) All credits go to my parents and teachers. | am grateful to them,——?

(e) Right you are. We ought to remain ever grateful to them,——?

Complete the passage using suitable connectors: 1x5=5
Man is a social being. He wants a person with whom he can mix and converse freely,
exchanging thoughts and ideas. (a) —— a man naturally seeks the society of those who are like
himself in their taste and inclination. (b) —— we mix with the good (c) —— the noble, it will
ennoble us too. Our character can (d) —— be judged from that of our companions. (€) —— we
may be taking to evil ways, a true companion will try his best to correct us.

Use capitals and punctuation marks where necessary in the following text. 5

have you heard the name of baf shaheen college located at potenga chittagong mr nasir uddin
principal of the college is a man of principle if you come to enjoy the patenga sea-beach you
can explore it the college is run by bangladesh air force
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